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QUESTION 1

How does QualityStage output the correct ISO code for a record?
A. 1SO code functionality is not available.

B. ISO code supplied by the Country rule set.

C. ISO code supplied by the USPREP rule set.

D. ISO code supplied by the US Address rule set.

Correct Answer: C

QUESTION 2

An initial match specification is built and executed- The match executes slower than expected and it is suspected that
blocking may be a factor.

Which option would be effective in determining if the block sizes are too large?

A. Create an investigation routine using the blocking fields for each match pass.

B. Review the match specification test results graph to determine blocking results.

C. Add disagreement weight to key fields where appropriate to break apart matches.

D. Analyze the blocking fields within the match specification to see if there are enough fields.

Correct Answer: A

QUESTION 3

In the output fields available from the Name Standardize rule set, how many MatchPrimaryWords are defined?
A. Two

B. Three

C. Four

D. Five

Correct Answer: A

QUESTION 4

You need to create a batch delta match process for transaction records against a very large master file of existing
clients.
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Which QualityStage match option should be used?
A. Transitive One-source match

B. Two-source many-to-one match

C. Deterministic One-source match

D. Two-source many-to-many match

Correct Answer: A

QUESTION 5

Which statement is NOT a task for the MNS stage?

A. Assigns ISO country codes
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